Runners Shirt Colors Town
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. Wendell didn't wear the cyan shirt..

N

. Jay finished 2 minutes after Herman..
3. Herman wore the teal shirt..
4. The contestant from Kamrar finished sometime before the competitor from Urbandale..

5. Of the runner who finished in 23 minutes and Patrick, one was from Urbandale and the other wore the lime shirt..

»

. Jay was either the competitor from Fullerton or the contestant who finished in 24 minutes..

~

. Of the runner from Kamrar and the runner from Pierson, one wore the cyan shirt and the other was Herman..
8. Herman finished in 21 minutes..

9. Patrick didn't finish in 24 minutes..

10. The competitor in the cyan shirt finished 2 minutes after the runner from Fullerton..

11. The contestant from Urbandale didn't wear the white shirt..

Copyright © Puzzle Baron - November 22, 2017 - Go to www.Printable-Puzzles.com for Hints and Solutions!



